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The original β-calculus: With ε := 1 + α, 〈α〉 :=
∑

v αv, and 〈γ〉 :=
∑
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Constraints. • Column sums are monomials minus 1. • At t∗ = 1, ω = 1 and A = 0.

β-better calculus: Constraints. • Sum of column x is (σx − 1)w. • ωk−1 | ΛkA. • At t∗ = 1, ω = 1 and A = 0.
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Claim. ωk−1 | ΛkA and ωk | Λk+1A implies (ω + α)k−1 | ΛkAux, with α = aux.

Proof. With ū ∈ T k and x̄ ∈ Hk, ωk divides

∣∣∣∣ ω 0
0 aūx̄
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∣∣∣∣ =

(ω + α)

∣∣∣∣ 1 0
0 aūx̄ − 1

ω+αaūxaux̄
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That is, with Aū;x̄ denoting minors, if ωk−1µū;x̄ = Aū;x̄ and ωkµuū;xx̄ = Auū;xx̄, then (ω + α)k−1(µū;x̄ + µuū;xx̄) = Auxū;x̄.
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Λ-calculus: Λ(T ;H) = R(T )⊗ (Λ(T )⊗ Λ(H))= ×Σ(T )H , with R(T ) Laurent polynomials in {tu}u∈T and Σ(T ) its units.
Generic element is L = (λ, σ = (x→ σx)).
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To do. • Consider a verification program. • Add dm formulas. • Add Burau calculus. • Add the MVA formula
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